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Choose the correct passive form of the
sentence.

The President gave him a reward.

(A) He was too be given a reward by the
President.

(B) He was given a reward by the President.

(C) He shall have be given a reward by the
President.

(D) He must be given a reward. [B]
Change the following sentence into direct
speech:

He exclaimed'that it was a dreadful idea.

(A) He said, "it is dreadful idea."

(B) He said, "this is a dreadful idea."

(C) He said, "what a dreadful idea!"

(D) He said, "what a dreadful idea it is." [C]
Fill in the blank with suitable determiner.

All T needed was ................ two and a half
metre’ piece of red flannel to complete the
design.

(A) the (B) those

(C) Both (A) & (B) (D)a [A]
The sentence has been broken up into four
parts.

Choose the part which is grammatically and
meaningfully wrong.

(A) The title of the book

(B) convey that life's joys

(C) and sorrows can often

(D) co-exist at the same time. [B]
Choose the correct option for the underlined.
May I accompany with you to the airport?

(A) accompany you (B) No improvement

(C) accompany you with(D) accompany [A]
Choose the prefix that meaningfully
completes the sentence:

Surprisingly, much of my assignment
remained...... finished by the end of the week.

(A)dis____ (B)ymis_____

(Qun____ (D)de_____ [C]

Select the right prefix for the word "fortune":

(A) un (B) dis

(C) mis (D) in [C]

Antonym of the word "Transparent" is:

(A) Clear (B) Opaque

(C) Translucent (D) Obvious [B]
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The sentence has been broken up into four

parts. Choose the part which is grammatically

and meaningfully wrong.

(A) In the modern,

(B) increasing commercial city,

(C) many of the old ways

(D) are gradually being discarded. [A]

Change into Interrogative:

It is no good to help a mean man.

(A) It is good to help a mean?

(B) Is it not good to help the good?

(C) Is it not bad to not help the mean?

(D) Is it any good to help a mean man? [D]

Fill in the blanks with the correct option.
members have already sent their

subscription.

(A) Some (B) Any

(C) Little (D) Whole [A]

Fill in the blank with the correct form of verb.

We....cooeveeeene there for ten years.

(A) will have been lived (B) live

(C) living (D) lived [D]

Choose the word with incorrect

prefix able.

(A) Lovable (B) Moveable

(C) Honorable (D) Victoryable [D]

Choose the correct option of the italicized

word.

Who was it written by?

(A) What (B) Whom

(C) Whose! (D) Which [B]
The Antonym of the word "Industrious” is:

(A) Indolent (B) Happy.

(C) Slavery (D) Impolite [A]

Change the following negative sentence into
an affirmative one:

I am not as intelligent.as.you.

(A) No one is more intelligent.than you.

(B) You are more intelligent than L.

(C) Both (A) & (B)

(D) None of the above [B]
Pick the correct option to fill in the blank
space. He doesn't behave well. .......... he hopes

to get votes.

(A) In the meantime  (B) Nevertheless

(C) As a result (D) Else [B]
Pick the correct option to fill in the blank:
They have too.............. technicians, we have
too few.

(A) little (B) much

(C) many (D) few [C]

Choose the word which means the following:
The cessation of warfare before a treaty is

signed.
(A) Amnesty (B) Amiablity
(C) Agreement (D) Armistice [D]
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Choose the option that best explains the
underlined idioms/phrase:

Have a midas touch means:

(A) Ability to succeed in everything

(B) To be a good middleman

(C) Act patiently

(D) Accept defeat gracefully [A]
Which of the following word means:

A way of speaking or writing that makes
someone sound bigger, better than they are.
(A) Hyperbole (B) Understatement

(C) Belittlement (D) Meiosis [A]
Fill in the correct tense choosing from the
options given below:

Loeeenees (write) a letter this morning.

(A) write (B) will be writing

(C) have written (D) wrote [C]
Choose the word which means the following:
A speech delivered without any previous
preparation.

(A) Diplomacy (B) Cynic

(C) Extempore (D) Versatile [C]
Choose the optionsthat.best explains the
underlined idioms/phrase:

The pandemic has made everyone suspect
that they are a bit under the weather at all
times.

(A) Out of work

(B) Distressed and depressed

(C) Feeling sick or unhealthy

(D) Open to infection [C]
Eill in’ the blank by choosing the correct
option:

There was a regular................. between the
merchantsiand the labourers.

(A) fight (B) battle

(C) war (D) None of the above [B]

Choose the antonym of the word "eulogistic"
from the given options:

(A) Admiring (B) Critical

(C) Appreciative (D) Friendly [B]
Choose the option that meaningfully
completes the sentence:

We had to pay the taxi more.......... because he
brought us by more route.

(A) circular (B) circumscribed

(C) circumvent (D) circuitous [D]
Fill in the blank with the correct option.
Spring ------- come again.

(A) will (B) has been

(C) have been (D)is [A]

Choose the suffix that meaningfully
completes the sentence:

Everyone was very excited and
eager......... waited for the result to be posted.
(A) ___fully B)___ly

(Q)__ ness (D) ment [B]
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Fill in the blank with an appropriate article.

He gave us........... good breakfast.
(A)a (B) an
(C) the (D) No article required [A]

Choose the correct option to fill in the blank
space:

Temperature tomorrow.............. much the
same as today.
(A) will (B) remained

(C) will have been (D) will be [D]
Choose the correct Passive of the following
sentence from the given options.

I can see the force of your argument.

(A) The forced argument I could see.

(B) The argument was forced to be seen.

(C) The force of the argument on can see.

(D) The force of your argument can be seen. [D]
Choose the correct Indirect form of the
following Direct speech sentence:

"Listen to me!" said Mother.

(A) Mother told me listen to her.

(B) Mother told me to listen:to her.

(C) Mother asked me to listen.

(D) Mother asked to me to listened. [B]
Choose the word which means the following:
A thing that is fit to be'eaten:

(A) Edible (B) Explicit

(C) Popular (D) Frugal [A]
Pick the correct option to fill in the blank:
Cattle.......... driven all over the fields.

(A)is (B) are

(C) was (D) has been [B]

Choose the /correct Indirect form of the
following Direct'speech'sentence:

"Could you call me backlater?"

(A) He asked if you could call to me later.

(B) He asked to later make a call on him.

(C) He asked me to call him back later.

(D) He pleased me to call him later. [C]
Change the following sentence into passive:
Give the order.

(A) Let the order out.

(B) Let you give the order.

(C) Let the order be given.

(D) The order was to be given. [C]
Choose the correct affirmative sentence.

She is not guilty.

(A) She is innocent.

(B) She is guilty.

(C) She can be not guilty.

(D) Innocent is she we know. [A]
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Pick the correct option which transforms the
following interrogative sentence to assertive:

Can you touch the sky?

(A) No one can touch the sky.

(B) The sky cannot be touched.

(C) You cannot touch the sky.

(D) None of the above. [C]

Change the following sentence into indirect
speech:

Tom said, "I woke up feeling ill, so I didn't go
to work."

(A) Tom said that he woke up feeling ill and so he
did not go to work.

(B) Tom said that he had woken up feeling ill, so
he hadn't gone to work.

(C) Tom said that he had woken up feeling ill, so
he did not go to work.

(D) Tom said that he woke up feeling ill, so he

didn't go to work. [B]
Choose the antonym of the following word:
Deplorable

(A) Inflallible (B) Admirable

(C) Explorable (D) Unbearable [B]
Choose the correct antonym of the word:
“Frequent"

(A) Refuse (B) Regular

(C) Follow (D) Occasional [D]

Choose the option that is a one word
substitution for the given phrase:

A nation.or person engaged in war or conflict,
as recognized by international law.

(A) Crusade (B) Anarchy

(C) Belligerent (D) Sacrilege [C]
Pick the correct'option to fill the blank space.
I couldn't sleep----------—-- very tired.

(A) although I was (B) in spite of being

(C) despite of being (D) Both (A) & (B) [A]
Which of the following word does not have
'ful’ as a suffix?

(A) Harm (B) Hate

(C) Hand (D) High [D]
Choose the correct meaning of the Italicised
Idiom:

The news of Rehan's death spread like wild
fire.

(A) Spread rapidly (B) Lateful

(C) In favour with (D) To get into trouble [A]
Fill in the blank choosing the correct tense
form from the given options.

If he.......... what are we to do?

(A) camed (B) comes

(C) had come (D) was to come [B]
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Choose the correct Active transformation of
the given Passive:

If the food had not been overcooked there
would not have been any complaint.

(A) I would not have complained if the food had
not been overcooked.

(B) I would not have complained if the food was
not overcooked.

(C) There would be no complaint for overcooking
the food.

(D) The complaint was about overcooked food if
done by me. [A]
Choose the correct Indirect form of the
sentence.

She said, "I have written a story."

(A) She said (that) she had written a story.

(B) She told of writing a story.

(C) A story written by her.

(D) She informed us of writing a story. [A]
Give the correct meaning of the underlined
Idiom. It was he who put a spoke in my wheel
in the execution of my design.

(A) Blessed me (B) Helped me

(C) Deeply appealed (D) Thwarted me [D]
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